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And from where do we derive that she is also acquired with auw

OVERVIEW
The X713 is searching for a source from where we derive that an WX is NP1
w31, Our MBOIN explains why we cannot derive it from a 787 1"p.

mMooIN anticipates a solution, but refutes it:
— 9195199 NX2%D VYA NP AN NP PRY NY93¥N NNNRT 991N TP

We cannot say that we can derive that an AWK is w2 n°1p3 through a Y''p

from 7927 772K who is not 8°22 npl and is nevertheless “wwa noIpl; it
follows therefore that a woman who is 7X°22 07121 should surely be qvw2a n°1p1.

mooIn explains why the &723 however does not offer this solution:

— (%10 91 YAPY 19 XPOY 'NINNY WPIINT N9 NIRRT DIVN NN
Firstly, because later we derive this rule that an 2R is Vw32 no1pP1 since
an "X is compared to X (another meaning an 7wX). At this point where we
have not yet derived that an 7wX is 7v0w2 N°1p1 then obviously an 772K is also not VW2 N°1p3
and we cannot derive WX from 7K. This answers the question if we maintain that PP
w2 a7k is derived from nAnX
— D7a¥N 1372 N>N NP3 DAN DITAYN NNYD NE¥N NXIN NY 92927 XTON 29D 199N
And even according to X7on 29 there, who does not derive 7282 0w from
nanR but rather he derives it from the *p105 of 2°72p7 NR¥> R¥N XY (she
should not leave [her master]| as slaves leave (their master]), this P09
teaches us, that however she is acquired with the 11 of 2972y which refers
to 7w. The reason why according to X701 27 we do not derive WX from 772X through the

previously mentioned 1"p, is because -
— 24093 ANYY 19V HI¥91a T79991Y NN

! XD (Dvown) nmmw. The p1oo is discussing a case where the 717X was 7v°n the nnX for an TwX. The 109
states that if the 178 will marry another wife [1? m> nanR oX], he must make sure that his original wife [the
] will not lose any of her privileges that she is entitled to. The fact that the 770 refers to an 7w as an
NAnR [another] in relation to the nnX indicates that the 7wX and the 7R are similar to each other. We can
thereby derive the 0°1"1p from one to apply to the other. See X7y 1"7 2,7 Mm»doIN footnote # 6.

2 1,8 (2°vdown) Maw. This means that she is not "1 W2 ARY as 0*1Y1D 0’72V are KX,

3 1,7. This answer would seem to support that which was mentioned in X p°¥» 1"7 2,7 Moo footnote # 2
that the &27°9 of 7022 XYY 19w means that since an 7R has extra NMX°¥, therefore she can have extra 0°1°1p.
This is in contrast to how (12w 71"72 ow) *"w" explains the X370, namely »1 2°wn AMTD7 172 WD 7O XM
'inpPY. According to >"w1 we could not use that X37°5 here where we wish to derive 0w 1°3p.

1

TosfosInEnglish.com



7011 1"7 '0I0 R, PeTR L7'02

We can refute the 1"p as it was previously refuted by arguing that only 71X

1s VW2 n°1P1, since she is 952 IRXY; however an WX who is not A0 7IXRXY is not
“LW2 N3Pl
mooIn offers an alternate reason why we do not derive maR» 1"'pPn TWK:

— 4R 9o X599 13013 AR RTOM 3797 1957 TR
And furthermore since according to X7ern 29 the father (who is the 71pn

and not the 71?) writes the 1°1p "W for the 71X, therefore we cannot derive
from 7nX the 70w 7°3p for an WX -
:*Yama S¥anY PIvn A1 MIPI NPNRY

Who is not acquired in this manner; for it is the husband, who is the 71p,
who writes the "vow.

SUMMARY

We cannot derive that an WX is W2 NP1 from a 728» 1"P either because
7aR2 0w 1Ip is derived from 7WX, or because we can refute the 1"'p or the
two NMuw are different.

THINKING IT OVER

1. moon first answer (according to X701 217) is that we can refute the 1"p
because 1R 1s 1032 XX, Why did not n901n use the X371’ which the Xn3
mentioned previously M@ X D1 7101p 1RY TARY 712°

2. mpoIN last answer is that we cannot derive WX from 72X since by 72X the
rule is that 125 ax;7 and by 12015 %27 7wX. Why cannot we derive 7wX from
& and the father should write the 9vw by an 7wx as well?’

* Indeed (see the X3 there) it is because X701 27 maintains that by 72X it is the father who writes the 0w
(and not the 17X who is the 711p), therefore he could not derive 7w 1Ip by an iinXk from the wp*i of NNX (as
X7 does), since the two nvw are totally different; by an nwx the 1 (who is the husband) writes and
gives the 70w to the mipn (the women) and by 71X the m1pn (who is the father) writes and gives the 0w to
the 71 (the 117X). [This also (obviously) explains why 7w&2 “vw cannot be derived from 772X through the
wp i1 of NINR (according to &701 17).]

> See “Thinking it over’ # 2.

® See p NIk "o WA

7 See 1"nx footnote # 70.
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